“ 2-3 — A&

- AN - R E TR R R eE Y

sl g =(p—>(qvr)) < (q— p) &l
w=(pAQ)v(PA=gAT)V(=pA—Q)FHEHE
EIFEREE ¢ BE ?

HEE ¢ NS HEBEEY > WERHEEFREEE
HAEEER v HEHE TR ¢ BHE

@ p.g /T

Q) prBTHARF

) p.q & F
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e DNF- - 45

DNF (Disjunctive Normal Form) :
EERIRATER ¢ 40 FHTR
$p=C VC,V---VC, C=Py APy A
HAr py, P By 0 8 R (literal)
¢, T 15T (term) FLAF—TETh iy A" A" i
o5 % %

BI04 =(p A a)v (pA—d A D)V (<P A—0)

FOF

oS 4 8§ ADNF - 51

RS ¢ = (—(p — q)) > (9 A —r) SF{HEAY DNF

FEL

ifE|p g T MBS |V y=(pAagAar)

l, [T T T |PAQar T |7 v(pagqa—r)
I, |T T F|PAQA-T T | T V(=P AGAT)

I, [T F T|PA-QAT F|F

LT F F|pamga-r [ g | F o VEPAGAST)
I, |F T T|—-PAdnr T | T V(=pA=QAT)
I |[F T FImPA@a=r i T v(=pA—gAa-T),
I, |[F F T|=pA=aar | T | T

I, |F F Fl=pA=Qa=r| T | T

AllyERgSEEBDNE
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B SR eADNF - )2

RS ¢ = (p < q) « r ZE{EHY DNF

HERCIE ¢ | v

e M e o B B s B B =
i I £ I e A 1 A s s B
T T B I £ e e M B

- CNF —ift 2 - 43t

CNF (Conjunctive Normal Form):
e AR RR YRR @ W1 AR

P=CLAC A Ay, Ci =PV PV
Hrh Pi1s Pios- P Ty e fﬁé?j%i(literal)
¢, T Ry 1-Hj(clause) H &g —F A FHYF LAV "

TH] TH TA]
———

B 4=(pv ) A (pv—av—r)a(pva)
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? P % eCNF - 61

B ¢ = (—(p — q)) = (q A —r) F{EAY CNF
B 4 (1.2 DNF

el P g o |- v
I, |T T T|PAGAar T|F|T
v (pA—=QA—r),
I, [T T F|PAQA-T T F T
I, |T F T |PA=QAT F | T = /5\‘//:—'%)
I, |[F T T|=Prqar | T |F|T =(pvavn)
I, [F T Fl=prga-r |7 | E | T AlEPvavn),
I, |[F F T|=pA=aar | T [F [T
1 |F R OFlmpamaa-r] 1| R T HIyERSSHEE SSCNF
7

%

@ kAR ACNF - 52

B ¢ = (p > q) © 1 FF{HIY CNF
SR

-

HRCTE ¢ |- v

B e e o e s s e B =
M 44 mm e

\l_ m_ 01_ J>_ 6\)_ N_ '_‘_ O_
m—47n =747




@ %% DNF,CNF3# 3\ enE &

IR N HIEE R Ry I E SR

QD gp=(@av—-bvb)a(-avbv-cvc)a(—ava)

(2) p=(—an—bAab)v(-arbAar—-CcAc)v(—-ana)

" STE WYL

EEREEL g =(p - q) > (p A—r) F{HHY DNF
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" STE WY 2

EREEL g =(p > q) = (p A—r) FF{HEHY CNF
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- SLERY 3

IR N HIEE VR Ry I EEE

@ gp=(av—-avb)a(-avbv-bvc)a(—-avavc)

(2) p=(—anb)v(-arbar-cac)v(—-anra)
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